ICS 23.100.40
CCSJ20

f
T
.

= 0 =E FE =X s ¢

GB/T 9065.2—xxxx
R EGB/T 9065.2—2010

RIEEENEE WEEL
5 2385 24° iHEE

Connections for hydraulic fluid power—Hose fittings—Part 2: 24°cone connectors

(ISO 12151-2:2022, Connections for hydraulic fluid power and general
use—Hose fittings—Part 2 :Hose fittings with ISO 8434-1 24° cone
connector ends with O —-rings, MOD)

(PRt LAEHFEZR)
(AFse s HI: 2023.7.25)

XXX XX X-X X k% XX X XX X-X XL
PEARSHEERFRETRRRERR , .
TEEXRERAERZR S






GB/T 9065.2—xxxx

EPA

ﬁ'ﬁ‘g .................................................................................................................. I
%[% .................................................................................................................. IV
1 j’@ ............................................................................................................... 1
D HRTEAHE D] B S esersnnmoccsestntssocnnssssootisnmmecsssssoosttassonssssssssssnnnsssosssssossocsssssosseennnsss 1
3 ﬂ(laui*ﬂ%)\( ...................................................................................................... 2
4 :@ﬁég;k ......................................................................................................... 2
5 fﬁﬁ% ............................................................................................................... 2
6 ﬁﬁ- ............................................................................................................... 3
7 %Ujﬁ ............................................................................................................... 3
20 1 BT R ey 3
7.2 I%%ﬁéﬁ? ...................................................................................................... 3
73 %Eﬁ@ ...................................................................................................... 3
7.4 {%5&): ............................................................................................................ 4
8 %@ag;‘k ......................................................................................................... 4
9 7T€)HQJ1§E ......................................................................................................... 4
10 ;]:/]*W/I:l ............................................................................................................... 4
11 *ﬂ?/flﬁﬂﬂ ......................................................................................................... 4
@%Irﬁk ......................................................................................................... 11



GB/T 9065.2—xxxx

L

jillf3

A

ARSAFEIRGB/T 1. 1—2020 (hrvEAL TAESM 551304 ARUEAL ORI SRR SR Y Ao 2

ASAFAEGB/T 9065 (AL BNIER:  BAEHEL) BIEE2H 7. GB/T 9065CL & KA | LA R4
—— B LRSI

—— ¥ e 24° HETE

—— 3 1EE

—— Ay MR

—— 54y 370 AR

——563 5. 60° HEE.

ASCAAREEGB/T 9065. 2—2010 (W BE Sk 285 24° HEZFHumBCE#k) , 5G6B/T 9065. 2

—20104H L, BREGHIABMGEVE B A, FEBARZW T

—— W T HCE SRR REE R (4. 3, 20104FRR 4. 3D

—— MR T RRSOR R R VIR TR 31 RS DL SR THPRELRE B2 1SR (L2010 AR F6. 5. 3.6. 5. 4);
——HEIN TN TR TR FE AR S bRt (7. 2)

——3hn T AR ER (LEESED

—— 14N T B B kIR R bR ISR (BB 10ED) .

RSB ECR TS0 12151-2: 2022 GRIEAEShAE R ERE SRSk 5285 RAIS08434-1

fr124° HEHOT B RBEE 1K)

1I

ARIAHETS0 12151-2: 202240 ELAy 1 T b 5 42 1 %%«
——J41S0 12151-2: 2022 1A = YaE, #hn T &2, K7, E3~E6EX IS0 12151-2: 2022

2~ 5,

——FIXMN IS0 12151-2: 2022005, 4[58, F2~EEXM IS0 12151-2: 2022 Rk 1 ~£4, 1
hn 7 #6;

—— IR T IS0 12151-2: 2022f6. 15 6. 1~6. 4XF M IS0 12151-2: 2022741/6. 2~6.5; Hh1 6.5
F16. 6.

AAESI1S0 12151-2: 20220 AR Z R R HIF R T

——FRYE 5 FHAIGB/T 17446% #: 7 1S0 5598 (WLEE3%:), LUEMNIRE R AR, $Em T #lE
s

—— G 5 F IGB/T 14034. 184 17 1S0 8434-1 (4. 2. 4.3, 6. LFIEE8E), LL&E N IR E 1+
AR, FEE T EEM:;

——n T RERRE LA E (ERL, BTES) , PUENEREBEARSM, R

1R,
—— TG 5] FHIGB/T 3103, 184 7 IS0 4759-1: 2000 (W.6.2), LL&EMIRE AR, 17
SR YL

—— 1N T RRYEYE S IGB/T 196 (6. 5) , LA MR E AR, $Em T e e

—— N ARSI SRR B R (6. 5. 6.6) , L& NI E IR, S R e

—— 1N T RRYEYE S G/ T 197 (6. 6) , LLEMN IR E AR, L m T ek
——HEE I S FH BIGB/T 13184 7 1S0 1302 (WL7.2), DUIE N3 B FH AR KA, $Em TN
——FHFE S FIGB/T 101258 # 17150 9227 (WL7.3), LUIEMN FRE AR %A, $Em T ErE;



1

GB/T 9065.5—xxxx

—— T RAF A B SLHIA42 X 38, 25X 19, 30X 25, 38X 315X AR ~F (L4, 1SO
12151-2: 202219%K3) , HFE2. F3IFXTN IS H—3.

AN T R B )

—— W ER RSO (REfEshEs: sk H2Esr: 24° HIR) .

—— T K2 XATEEE. XA MK R E

TETEBA SRR L ]y R Re i e B o AR SO I R AT AR A AR & R 1) 54T
A A E AU TS 23R H .

A A R SR R R ZE 2 (SAC/TC3) A M.

AR TN TWARBIEZARM AR A H] .

AV EEREN: Bl

A P B AP AE ) IR AR AT S L

—— 19884 IR KA NGB/T 9065. 2—1988, 20104FE 48 —RI&1T;

—— RN ZIREIT .



GB/T 9065.2—xxxx

51 &
FEMUB TSN /1 2R Ge T, Bl 71l £ 5 P [ i o 52 e VA A S AN B o 72— MBI o, LA T

PATE IR 0 T ik -

v

LA 1 R Sk SRR/ 3 B U Gk R E R

GB/T 9065 = £ MUV AL SE B BUE R N BOR ER, AN A

—— LY ST o AR TR E OFF 18] i 1 2 (0 O Sk B AP RE R S A ZERAT RS 22
Ko

—— 28Ry 24° HEIE. HAOETRAE24° HER B A BUE L BT AME BE IS A ZOR AR 25K

——HE3ER s R HIE T RS BT AT RE R S A R R 25K

——EEARR . WA . R TR S MR S PR B E Sk BT A RE AR S A ESRAM RU] EK

— 558 377 R HEETHIET § 1R HSR BT A RE A A B RN R 2
Ko

——H6HR . 60° HEM. HEETHIE6O" HEMMIBUE Bk v AE RE A SE A BERA R 25K



GB/T 9065.2—xxxx

RIEEENER REERK F 2807 24° #HE

1 SeE

AIAFE T 24° HEZE (FFEGB/T 14034, 1D BB Bk B THAI TR RE A BE AR A RSP 285K, X
FPE L LLIRANHI R, 5 AP AR A Smm~38mm ) 45 B il &5 H

I AT EBEWRREM s REMPEEL, IS0 4038, IS0 4039-1F11S0 4039-2.

A RE I R (IAURGIILE D 5SR-S AR POE M EESR S — R N T R4St

-
|

L\{ 3

5
Ik

2——0 JE;
3——
4—— B HEK A
5——IREL,

Bl 24°HEmE Imik E iR SR HL B 1R R 1

2 AetsIRAxH

N HU ST R P 2 e SO R B T A O AN TT D B SRR e, i HIHAS 51 S,
A% H BAXE R B AR E T A SCE s AN H AR 51 SC, HEFRA CEFEFTA MBS EH T4
S

GB/T 131 77t JLATHEARMTE (GPS)  H A ™ it SCA v R 11 45 74 B R 7~ % (GB/T  131—2006, IS0
1302:2002, IDT)

GB/T 196 HmiZLr FAR <) (GB/T 196—2003, ISO 724:1993, MOD)

GB/T 197 WMIELr /A% (GB/T 197—2018, ISO 965-1:2013, MOD)



GB/T 9065.2—xxxx

GB/T 3103.1 E[fFanz 84, 1847, M ((GB/T 3103. 1—2002, ISO 4759-1: 2000,
IDT)

GB/T 10125 NiEAFEMIRL  #HFR% (GB/T 10125—2021, IS0 9227:2017, MOD)

GB/T 14034. 1 WEALahiER: &J@EHk 2 1345 24° #E (GB/T 14034. 1—2023, IS0
8434-1:2018, MOD)

GB/T 17446 kLl #24G M oot 1Al (GB/T 17446—2024, 1SO 5598:2020, MOD)

3 ARIBRMENX

GB/T 1744655 FIATEAIE SUGEH T A .

4.1 BRSO AR R BCE U T S IVEREEOR, IR R, TR S SCIRT A T AR
FRAERIR B o

4.2 B E RS BR R LA 7N GB/T 14034, 1 A HIRE F R 45 Sk e e AT F 70 AHAR S B0 AT A B 2
IR B e AR /AR

4.3 RS R BAH 2 GB/T 14034, 1 W HILE HITEREEER

5 ERA®H

5.1 WEHESLIIM AT B “BERSR” , B8, HhrdEgS “GB/T 9065. 27 , FEFELF “-7
PR BATRAS (WL 5.4) , JEEES—NERST -7, 58 24° R umles (AFRERR)
MEE ARNE, WIS Z BHTRS (XD BRI,
Al
St FE FREEE A BRSNS 22mm AVEKEFABRIN 4 10mn FLI. B2 R 51 RSB R BB Bk, BRIRATR
BBk GB/T 9065. 2-SWS-L22x 19

L wr amm iz
24° YL IS

SR SRR
b g
¥
5.2 (EEMITEILT, Bk RS B eI | BB Sk TR R RE R 4 R
5.3 TS ASMES, WHAD AR S . AR, R T 4.
5.4 EHBR LS IR 1.

x EEREALRS

R e
. PR R 5 5 SW
£ SWK
Hil S
TEIR 45° E45
90° % E
L=Yic) L

EYl
I g S




GB/T 9065.2—xxxx
6 it
6.1 K 3~E 7 HIREESKR ST N SR 2~ 6 HAHPIRST, FHFFE GB/T 14034, 1 A RLE AR
KIRT
6.2 INFXHATEEE A ZENTFA GB/T 3103, 1 H C 2o 7SN AR ST L 2) 1 /IME A X 58 B 1
1. 092 £, P TH A BE A e /MBS 30 58 FE I 0. 43 £i%
MR E

i
W
=
B

—\7 ke S

W

@

& +

R

b

B2 azEE. MARY. MFEKEREE

6.3 XTETERIMIE L, HnmhZ R mmzER N +3° .

6.4 AMERIAHT N SR IE R, AR 2~K 6 A HIRST.

6.5 EWIHIRSCEEA R H4% GB/T 196 HIHLE -

6.6 HIMMRSUAZEFE GB/T 197 BIFIE: WIRSUH 61, SMRIUH 6f 5 6g.

7 HIE

7.1 WL
BB R GG . AN T EER A TR, BT AN AR T . X T RN LA
ATRE,  H A 75 XU Bl v
7.2 ITEEXK
TR A AR RG], DAA 7 m R 2 E Sk . S P NT W5 g, B A
A G DA S oA o] B sz AR DhRe ki . BRIERA RS, Bra i LR M REEE#4GB/T 131-MRR R
NR<6.3um.
7.3 FRELE
BRAEHE TR XU 7B WS, BT BRAN 22544 (1) 403 T FIMESCHR N, FELAE Bl DLIE 24 IR RE, N 4% HEGB/T
1012503 JE i 72h R PE R 55 R 56 . 7R SR S RIS I R v, AR AL IR AT BB BE A AN 4%, T A4E
SE BRI BR A

—Hr W IALE
—— IS, AN AR AIR RS TH (X e FR A Tt A 7= Bl i ) S v e 40 2 el
JEFEENUARDTD

—— T P B A A A < R R A BT SR BT A T ) X 45k
I H b A B E AL CRUef B AT RESRIE B .
FEWCAF MR ST SIIR], Py P0G I 38E 6 52 216
e PR RS T RES AR E SR, b N 7 IR IE .
7.4 {RiF
LPEFXTTE, N CLIE 2 K7 R B LR L B i S N AMR SO E S R AR 1, BAf
SO FhAE P TIRE . P RRIEIE R AR ORI o B R G TS

8 kEcisr




GB/T 9065.2—xxxx

OB S A A b Sk Bl 4 SR A LA T AN AT R L N AT I A, 3 A B PR I O R Sk B e B
W, ZHVENESEREIT LA

— PSR S, A P ek e B R

— LR T A

— YERSLIERS R, NAZIE GB/T 14034. 1 HIMLSE o
9 RMEE

TEWN BT IR, R T7 N 2 D3R E DL E B

—— LR (ILEE 5 D

—— WL R CIERRANA R )

—— BRI R

—— AR R AL

—— i LAEE T

—— TAEEE (BFEASREMNFURE .
10 ¥R

B B LK M IR VR 1) 36 7 44 R PR A o [0 2 QA Sk BROMERE I S b i 4 B 70 R 01 R 0 o
RS,
11 $R5FER (31 GB/T 9065 BYASTH)

YR PR S A AR, EAE R AR A . P H SR AR S DA R B “a24° HER IR
BHSLFFAGB/T 9065, 2—X X X X (MiEAEshidEl: BiEHE:k Fodsy: 24° #HE) 7 .

s ‘|tl

od;

Ly

MNAAEREEE H— B IR E], DAMEAEE SO, ] DUEMERERS BI0T Bl bl i) 5 T
A BOEESL S HOE 2 IAINER TR TR .
2 WEESLERW S GB/T 14034. 1,



GB/T 9065.2—xxxx

" IBRLL
PN FR LT
E3 HBMELEIHARERESL (SWS)
*x2 HBABYEENRERESL (SWS) BR
BRREK
251 WEEk s AWERE WE AN @' a’ s L
Hrk R~F ' min. max. max.
6X5 M12X1.5 6 5 2.5 3.2 14 59
8X6.3 M14X1.5 8 6.3 3 5.2 17 59
10X 8 M16X1. 5 10 8 5 7.2 19 61
12X10 M18X1.5 12 10 6 8.2 22 65
77 25 15X12.5 M22X1.5 15 12.5 8 10. 2 27 68
(L) 18X16 M26X1.5 18 16 11 13.2 32 68
22X19 M30X2 22 19 14 17.2 36 74
28X 25 M36X2 28 25 19 23.2 41 85
35X 31.5 M45X2 35 31.5 25 29.2 50 105
42X 38 M52 X2 42 38 31 34.3 60 110
8 X5 M16X1.5 8 5 2.5 4.2 19 59
10X6. 3 M18X1.5 10 6.3 3 6.2 22 67
12X8 M20X1.5 12 8 5 8.2 24 68
12X10 M20X1.5 12 10 6 8.2 24 72
HAY R
16X12.5 M24X1.5 16 12.5 8 11. 2 30 80
) 20X16 M30X2 20 16 11 14.2 36 93
25X19 M36X2 25 19 14 18.2 46 102
30X 25 M42X2 30 25 19 23.2 50 112
38X31.5 M52 X2 38 31.5 25 30. 3 60 126

* %4 GB/T 2351,

' AR R SR RIS RN AR, BRI LR AN T 0. 9.

©d ROPRFE GB/T 14034. 1, & IB/AMARNANT do o CHEHSKRESHING) 1 & CGREESRERR N
Z IR N B, BN R T
" LI RS R AR L N A T

AWk YRR AN

s

Ly

L,

MAEREE H— B E B G IR 2SR, DMEEE R 0 JEER, B LUEIE AR 3] 0 T RS Y 5 T .
1 BREESL SR 2 M IERE TR TTIE R .
2 BOEESERAT S GB/T 14034. 1.




GB/T 9065.2—xxxx

CIRLL
PN FR LT
El4 45° ZRIZGEHEXREEK (SWE45)
R”3 45° TR R EREL (SWE45) HIR~T
BRREK
BAEEEL . /L\\% AT ' d L
EY| L U7 BN ) s Ly
A& min. max. max.
R d’
6X5 M12X1.5 6 5 2.5 3.2 14 80 15+3
8X6.3 M14X1.5 6.3 3 5.2 17 80 164
10X 8 M16X1.5 10 8 5 7.2 19 80 17+4
) 12X10 MI8X1.5 12 10 6 8.2 22 90 18.5+4
%i 15X12.5 M22X1.5 15 12.5 8 10. 2 27 100 19.5+4
/(%Lﬁ)u 18X16 M26X1.5 18 16 11 13.2 32 110 23.5%+6
22X19 M30 X2 22 19 14 17.2 36 130 25.5%6
28X 25 M36 X 2 28 25 19 23.2 41 133 32+6
35X 31.5 M45X 2 35 31.5 25 29.2 50 165 38+7
42X 38 M52 X 2 42 38 31 34.3 60 185 44.5+10
8 X5 MI6X1.5 8 5 2.5 4.2 19 75 17£3
10X6. 3 MI8X1.5 10 6.3 3 6.2 22 75 17+3
12X8 M20X1.5 12 8 5 8.2 24 85 18+3
il 12X10 M20X1.5 12 10 6 8.2 24 90 18.5+3
EYl 16X12.5 M24X1.5 16 12.5 8 11. 2 30 110 21%4
S 20X 16 M30 X2 20 16 11 14. 2 36 115 254
25X19 M36 X 2 25 19 14 18.2 46 135 30.5%4
30X 25 M42 X2 30 25 19 23.2 50 145 35.5%5
38X31.5 M52 X2 38 31.5 25 30.3 60 195 4216

* %4 GB/T 2351,
" d RO SO BT A B NN, RS N AR RN T 0.9 da.

©d ROPFFE GB/T 14034. 1, & WR/AMERA/NT do o CREHSKESIHND M d CREESGERR N

P 1A% U R/ SIS N NPAE LR
" Ly I I R




GB/T 9065.2—xxxx

Ls

Ja
TR

sP 0d;

Ly

MNAAWEREE H— B E 0 EE S E], DUEAEEH 0 TEIBIRS, T DUKERERS B O F72 R A 1 5 1
A BOSESL S 2RI ERE TR IR .
2 WEESLERW S GB/T 14034. 1,

"B,
NI
E5 90° TEPHURY[EEIREESL (SWE)
F4 90° TLRIRL[EFEREREL(SWE) IR~
B Ry EE K
sy | WK | | s | BT o | | u .
fy e R~f v min. max. max.
6X5 MI2X1.5 6 5 2.5 3.2 14 65 305
8X6.3 M14X1.5 8 6.3 3 5.2 17 65 30.5+5
10X8 MI6X1.5 10 8 5 7.2 19 75 33+5
12X10 MI8X1.5 12 10 6 8.2 22 85 36+5
LYY 15X12.5 M22X 1.5 15 12.5 8 10. 2 27 90 40.5+6
L 18X 16 M26X 1.5 18 16 11 13.2 32 95 51.54+10
22X19 M30 X2 22 19 14 17.2 36 100 56+10
28 X 25 M36 X2 28 25 19 23.2 41 120 68.5+10
35X31.5 M45X 2 35 31.5 25 29.2 50 147 78.5+10
42X 38 M52 X2 42 38 31 34.3 60 170 95+13
8 X5 MI6X 1.5 8 5 2.5 4.2 19 65 32+4
10X6. 3 MI8X1.5 10 6.3 3 6.2 22 65 3216
12X8 M20X 1.5 12 8 5 8.2 24 70 3446
12X10 M20X 1.5 12 10 6 8.2 24 85 35.5+6
EREY]
16 X12.5 M24X1.5 16 12.5 8 11.2 30 100 43+8
5 20X 16 M30 X2 20 16 11 14. 2 36 100 49.5+8
25X 19 M36 X2 25 19 14 18.2 46 120 5948
30X 25 M42 X2 30 25 19 23.2 50 135 70+8
38X31.5 M52 X2 38 31.5 25 30.3 60 180 87111




GB/T 9065.2—xxxx

© F54 GB/T 2351,
" dy SRR B SR S AT Sk RN AR, BEILE AR RN T 0.9 da.

© d RTRFE GB/T 14034. 1, d HIBR/MERANT do d CREESLETHING) M d CGBEBELEERK NG

Pl VA SO R/ SRNVS N VPAE: L
' L YR R

P

3
s

A i

Le

e B EEL S 2 RMERE TR AT .
2 BOEESERAT S GB/T 14034. 1.

Elo HIBIMELIREIEK(S)
*™5 HIBIMEGEREREL(SO)BIRT

$d2
Pd1

EEOWAE-F S

WEEk . AWRERE AR @' s @ , L

EY IEEL WAz i s
A ) & min. max. B11 30.1 max.
6X5 M12X1.5 6 5 2.5 4.2 6 — 14 59
8X6.3 M14X1.5 8 6.3 3 6.2 8 — 17 59
10X8 M16X1.5 10 8 5 8.2 10 — 17 60
12X10 M18X 1.5 12 10 6 10. 2 12 — 19 62
BRI 25 15X12.5 M22X1.5 15 12.5 8 12.2 15 — 24 70
(L) 18X16 M26X1.5 18 16 11 15.2 18 — 27 75
22X19 M30 X2 22 19 14 19.2 22 — 32 78
28X 25 M36 X2 28 25 19 24. 2 28 — 41 90
35X 31.5 M45X2 35 31.5 25 30. 3 — 35.3 46 108
42X 38 M52 X2 42 38 31 36. 3 — 42.3 55 110
8 X5 M16X1.5 8 5 2.5 5.1 8 — 17 62
10X6. 3 MI8X1.5 10 6.3 3 7.2 10 — 19 65
12X8 M20X1.5 12 8 5 8.2 12 — 22 66
12X10 M20X1.5 12 10 6 8.2 14 — 22 68

HAY R

16X12.5 | M24X1.5 16 12.5 8 12.2 16 — 27 76
) 20X16 M30 X2 20 16 11 16. 2 20 — 32 82
25X19 M36 X2 25 19 14 20. 2 25 — 41 97
30X 25 M42 X2 30 25 19 25.2 30 — 46 108
38X31.5 M52 X2 38 31.5 25 32.3 — 38.3 55 120




GB/T 9065.2—xxxx

* F54 GB/T 2351,

U o TR L SRR B NN, BERR AN AN T 0.9 da.

© ds NSFRFE GB/T 14034. 1, ds W/ IMENANT dae do (BEBSLKESHING) M ds CREBLIERR NN
B ZmBE B, LA 1.

* WGB/T 14034. 1.

© SRVFBUINIS T

" LIS R A R

Y

A-A 5 A
Ll
72 I —==__
| . ) o
i S s \ |
A I V— — L
L |
S 8 A
Ly

W BSOS 2 MIIERE R TIE R .
C RPN GRERSD .
E7 BEBEFEAREEL (SIKS)
Fo6 HBFEXRERSL (SWKS) MRS

LEVVSES S

25 Bk NRRER R N WA a’ d L . .
Firk D N d’ min. max. max.

6X5 6 +0. 060 5 2.5 3.2 59.5 22 8

8X6.3 8 +0.075 6.3 3 5.2 61.5 23 10

10X 38 10 +0.075 8 5 7.2 63 23 12

12X10 12 +0.090 10 6 8.2 63.5 24 14

BRI 25 | 156X12.5 15 +0. 090 12.5 8 10. 2 68. 5 25 17

) 18X16 18 +0. 090 16 11 13.2 74 26 20

22X19 22 +0. 105 19 14 17.2 81.5 28 24

28X 25 28 +0. 105 25 19 23.2 92 30 30

35X31.5 35 +0. 125 31.5 25 29.2 107 36 38

42X 38 42 +0.125 38 31 34.3 128 40 46

8 X5 8 +0. 060 5 2.5 4.2 61.5 24 10

10X6.3 10 +0.075 6.3 3 6.2 71.5 26 12

Y| 12X8 12 +0.075 8 5 8.2 66. 5 26 14

(S 12X10 14 +0. 090 10 6 8.2 76.5 29 15

16X12.5 16 +0. 090 12.5 8 11.2 79.5 30 17

20X 16 20 +0.090 16 11 14.2 88 36 22




GB/T 9065.2—xxxx

25X19 25 +0. 105 19 14 18.2 101.5 40 27
30X 25 30 +0. 105 25 19 23.2 117.5 44 34
38X31.5 38 +0.125 31.5 25 30.3 123.5 50 42

© FFE GB/T 2351,

' TREHES BRI AT R B AR, REIER L NARRIA /N T 0.9 d 2.

Cds MIRAMENANT de db CREHSKEEIIAE) Ml ds CREESKERRINAR) Z RSB BT, AR/ /)

b
U LREERC R IR R .

10




[1]
[2]

[3]

[4]

[5]

(6]

[7]

(8]

[9]

GB/T 9065.2—xxxx

SE Rk
GB/T 2351 WiMALEN RG ooty W AMERTEE MAZ

ISO 1436 Rubber hoses and hose assemblies — Wire-braid-reinforced hydraulic types

for oil-based or water—-based fluids — Specification
ISO 3862 Rubber hoses and hose assemblies — Rubber—covered spiral-wire-reinforced
hydraulic types for oil-based or water—-based fluids — Specification

IS0 3949 Plastics hoses and hose assemblies — Textile—reinforced types for hydraulic
applications — Specification

IS0 4038 Road vehicles — Hydraulic braking systems — Simple flare pipes, tapped holes,
male fittings and hose end fittings

ISO 4039-1 Road vehicles — Pneumatic braking systems — Part 1: Pipes, male fittings
and tapped holes with facial sealing surface

ISO 4039-2 Road vehicles — Pneumatic braking systems — Part 2: Pipes, male fittings
and tapped holes with conical sealing surface

ISO 4079 Rubber hoses and hose assemblies — Textile-reinforced hydraulic types for
oil-based or water—-based fluids — Specification

ISO 19879 Metallic tube connections for fluid power and general use — Test methods

for hydraulic fluid power connections

11



